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https://www.100test.com/kao_ti2020/646/2021 2022 E4 B8 93 E
5 9B 9B E9 98 85 E8 c94 646111.htm 1. Given the nature of
government and private employers, it seems most likely that
discrimination by private employers would be greater. 2. The release
of the carbon in these compounds for recycling depends almost
entirely on the action of both aerobic and anaerobic bacteria and
certain types of fungi. 3. A spirited discussion springs up between a
young girl who says that women have outgrown the
jumping-on-a-chair-at-the-sight-of-a mouse era and a major who
says that they haven’ t. 4. They are trying to find out whether there
Is something about the way we teach language to children which in
fact prevents children from learning sooner. 5. Mathematicians who
have tried to use the computers to copy the way the brain works have
found that even using the latest electronic equipment they would
have to build a computer which weighed over 10,000 kilos. 100 [ [J
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